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— 23 |11, 348, 503|11, 375,624 27, 121| 100. 24| 4,293,372 7,082, 252|  164.96
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29 | 4,747,854 4,626,599 121, 255 3, 888 117,367| A 23,289 1,074,984
28 | 3,147,432 3,006, 776] 140, 656 0 140,656| A 15,589 154, 980
27 | 3,012,389| 2,855,339 157,050 805 156, 245 14, 608 226, 462
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2 AR RO TR 146,332] 158,166 11,834 1.39] 157,349 817 0.52
3 % 4| 2,805,957| 2,805,957 of 24.67 23, 173| 2, 782, 784|12, 008. 73
4 B & 10, 762 10,626] A 136 0.09 15,260 A 4,634 A 30.37
5 M E I A 1,010 1,026 16 0.01 996 30 3.01
6 A 4| 571,650 571,649 Al 5.02| 499, 790 71,859|  14.38
7 e 4| 120,039 120,040 1 1.06| 137,677| A 17,637| A 12.81
8 7 I A 22,039 46, 246| 24, 207 0.41| 112,050 A 65,804 A 58.73
9 #i & fif| 452,900 444, 100[ A 8,800 3.90| 115,600 328,500 284.17
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4 ik | 9,330,031] 9,267,771 11,796 50,464  99.33| 1,357,085| 7,910,686 582.92
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S VA 246, 709 246, 709
= 7 286 392, 761 10,650 | 9,267, 771 | 1, 448, 350 137, 722 0 |11, 257,540




s 7 5D S & BT A B &
R Bl = Btk A H TR o R L

A Csfir: 1)
o Rk 30 i BE FRR2OFE B OB A | H R
ES gy | TR OBLEE|ILON B | rhimsc| MRk [k B g B—C) |(D0)X100
(A) (B) s (%) (C) (D) (%)
1 B pE I A 3, 205 3, 253 48] 100. 00 3, 257 A4l A 012
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